Practice 7 Answer Key

During the game, one of the basketball players hit a student from the other team and started a huge fight.  Even though this was after school hours, he will be in serious trouble because the incident took place on school grounds.  

T   F
1.  There are four clauses.

T   F
2.  In the first clause, the subject is players.  

T   F
3.  The first clause has two predicates.

T   F
4.  There should be a comma between trouble and because.

T   F
5.  There are two dependent clauses.

T   F
6.  because the incident took place on school grounds is the 


predicate for the last clause.

T   F
7.  There should be a comma between team and and in the top line.  

